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N = 0l & At & Ml A

A= dXelZ A M ARSI A H
H: MIMIHMUHAZE (MIEX/S)
Sl AR HNELSIE (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
A2l = Z T 2t 32,139,804 34,228,631 A2,088,827
=2 7,347,747
s 10,534,000
< 14,258,057
MBI HBHMEHZLE (M SR/ ES) 32,085,724 34,156,363 A 2,070,639
= 7,347,747
s 10,534,000
< 14,203,977
A HZHE S 3K 12,024,384 10,698, 133 1,326,251
2 5,390,747
< 6,633,637
ASI HHHIE 176,320 176,320 0
201 2et24d] 172,000 172,000 0
01 At 22l 172,000 172,000 0
Opt=2Hl 165,000
OMIEZHEMIREDNSHEZ RO 15,000
OAMBI BB NEEdsFTER 150,000
O2d=¢ 7,000
OAMHBNAZA B+ S 7,000
203 ¥ =&l 4,320 4,320 0
03 AIZ=AH =AY 4,320 4,320 0
OMSIHZHELHsERFA 4,320
M HIMANJEAHEEH2Y 800,000 600,000 200,000
307 glz2tol & 800,000 600,000 200,000
05 B2t & = 800,000 600,000 200,000
OAMIEHBMARLAEH2H 800,000
A EZHEA 1,985,000 1,685,000 300,000
307 glz2+ol & 1,960,000 1,660,000 300,000
02 IZtE M AMHEE 1,860,000 1,560,000 300,000
DA HZM10-102 8 =L I X 160,000
OMIEHZBHMFSXNILUMEHZ2S 100,000
OA8HHYE A5 200,000
O3S AEE 22245 200,000
OOAMSI A B &AL S o 100,000
OZ=EH0A8E224H 800,000
OASIHZ RIS S EEASLSAG (1 F
o) 100,000
DA BB M3 =SddagHAY 100,000
OB=S A2 HZ M A StAFS 100,000
04 DIZFHALALSE E X 100,000 100,000 0
CIAtSI = Z HI CH & OH = 100,000
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40 5 4

el F A 2 M
DA EHIHMEAZLE (MEIER/ES)
DA EHINEYE A

COARRI A M

- _ _ RE]

AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
308 XHXIEHSO|A 25,000 25,000 0
01 AIXSHMENMNEX= 25,000 25,000 0

OMSEIHESAI2SINESA 25,000
SSXEEHESNE 280,000 280,000 0
307 2izto| A 280,000 280,000 0]
02 QIZIA AAIE E X 200,000 200,000 0
OEsINEEEdHXE 200,000
04 SIZ2ISHAFAISHE E X 80,000 80,000 0
JX=ctAIS & A H Y & 80,000
A=EAMIIEEHMEE L X 398,738 1,395,172 N 996,434
= 199,369
= 199,369
307 2Iz2to| & 398,738 1,395,172 N 996,434
= 199,369
= 199,369
02 QIZHA AAIE E X 398,738 1,395,172 N 996,434
OHA=EAEIHEE L X 398,738
= 199,369
= 199,369
ZESAMSEBMEAL T2 (AIZ) 2,243,460 6,187,840 A 3,944 /380
= 1,668,000
& 575,460
308 XNXIGHHSO0l& 2,243,460 6,187,840 AN 3,944 380
= 1,668,000
& 575,460
01 MIXHHIMNEEXS 2,243,460 6,187,840 A 3,944 /380
OdEg A E2AMAEEI LR (AlZ) 2,243,460
= 1,668,000
&< 575,460
CI2AS20IHSESEHARASEART KA (2 IR EH X 50,000 50,000 0
<)
307 giztol A 50,000 50,000 0
02 AI2tAAMAIE E =X 50,000 50,000 0
O 2AS 20tHSFEEARAST AR A 50,000
MIEHAMSEMNLAH (2R E X ) 237,171 323,801 A 86,630
307 QI2t0| & 237,171 323,801 A 86,630
02 QI2tAMAIE E =X 237,171 323,801 A 86,630
OAISI EH M S A A E 237,171
MASICHEH I 2 AIS H A M 23 (2R EXH) 500,000 0 500,000
201 gBt24y| 500,000 0 500,000
03 A2 EH| 500,000 0 500,000
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DA EHIHMEAZLE (MEIER/ES)
DA EHINEYE A

=
e

A

COARRI A M

- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2

[JNA4SICHEH Bl 2 At H A KB et g 500,000

A=A AssSEEEEEEL XL 652,195 0 652,195
= 260,878
= 391,317

307 212t01 & 652,195 0 652,195
= 260,878
& 391,317

02 Q2B AMAIE E =X 652,195 0 652,195
OF=XNSASSBEEAEE LI 652,195
=2 260,878
o= 391,317

HAEX A SStLEAH AL (AlZ2) 3,564,000 0 3,564,000
= 2,475,000
o 1,089,000

308 XX SHHSOIA 3,564,000 0 3,564,000
= 2,475,000
o= 1,089,000

01 AIXSHMENEXZ 3,564,000 0 3,564,000
OJASXNGAMsSetdEFHEHLTEI(AIZ) 3,564,000
= 2,475,000
& 1,089,000

A= AMEEAFMESGH E L Xel 175,000 0 175,000
= 87,500
& 87,500

307 2iz2to| & 175,000 0 175,000
= 87,500
= 87,500

02 QIZ2FAAAIE E X 175,000 0 175,000
OH=Ate] & A HESGH & & Xtef 175,000
= 87,500
o= 87,500

HAEANSEAMESGE EH A X2 (Al2) 962,500 0 962,500
= 700,000
= 262,500

308 MXISHMSOIA 962,500 0 962,500
= 700,000
= 262,500

01 HXHHIMNEXTZ 962,500 0 962,500
[(ZSAS E A HESGE E L X2 (Al ) 962,500
= 700,000
= 262,500

A EI S H 23S 13,952,235 13,827,630 124,605
= 1,957,000
g 10,004,000
= 1,991,235
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DA ED g s d 2 e

COARRI A M

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

A EIIHE LR 18,000 18,000 0

201 £B-2d| 18,000 18,000 0

01 At 22l 18,000 18,000 0
Ogpt=2tl 6,000
OMIHEIISSEMGETRANEFO 6,000
O2dsg 12,000
OMIAIIAS LAY A Z 12,000

M HI| LK ASIHALS 300,000 200,000 100,000
= 210,000
< 90,000

307 21201 A 300,000 200,000 100,000
= 210,000
< 90,000

02 QAFAAFEX 300,000 200,000 100,000
OAS E DL XS ESHALS 300,000
= 210,000
< 90,000

ASIHINLXAESAS (AIZ) 474,000 408,430 65,570
= 420,000
< 54,000

308 AHAIEHHSOIA 474,000 408,430 65,570
= 420,000
< 54,000

01 HXNHHNBHELS 474,000 408,430 65,570
OMSIEIIS XA SFALY (AlT) 474,000
= 420,000
< 54,000

A ZZ MO AL O 2B X & ALY 1,497,700 1,533,600 A 35,900
= 1,327,000
< 170,700

308 XXM SOl A 1,497,700 1,533,600 A 35,900
= 1,327,000
< 170,700

01 AXHHILEES 1,497,700 1,533,600 235,900
OAMSI B MO S AL N L HI X & AFS 1,497,700
= 1,327,000
< 170,700

M3 HI|GL el &S AL 10,349,900 10,442,300 292,400
s 9,409,000
< 940,900

308 Xt XIEHH SOl A 10,349,900 10,442,300 292,400
s 9,409,000
= 940,900

01 HXNHHBHELS 10,349,900 10,442,300 292,400
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DA EHIHMEAZLE (MEIER/ES)
DA ED g s d 2 e

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OAMRII LTI HEMNL(ZESY) 10,349,900
s 9,409,000
< 940,900
A I HASI EE 2 X & ALY 654,500 623,700 30,800
s 595,000
= 59,500
308 XXM SOIA 654,500 623,700 30,800
s 595,000
< 59,500
01 X HHBILEES 654,500 623,700 30,800
OMSIEIISASIEESZXNAMNS (RSESY) 654,500
s 595,000
< 59,500
A SEHESK ALY (HAXEAY) 658,135 601,600 56,535
307 21201 A 658,135 601,600 56,535
02 It S AIHE LS 658,135 601,600 56,535
OAMSSHESXE ALY 658,135
NEssHads=a 6,109,105 9,630,600 A 3,521,495
s 530,000
S 5,579,105
OrSJIgEdstX& 20,000 22,000 A 2,000
201 £B-2dH| 20,000 22,000 A 2,000
01 At 22l 20,000 22,000 A 2,000
Ogpt=2Hl 10,000
ObtSJIgdaAsktazsel 10,000
O2d=sg 10,000
OltsSVISEHEEMRAZ AT A =EH 10,000
DSOS NG (WSALE X)) (2 H D SALY) 556,000 556,000 0
307 21201 A 556,000 556,000 0
05 RIZt2IEt = 556,000 556,000 0
OosolgsdAgd (A8 ) 556,000
OrSJIgsd A 689,000 782,600 293,600
s 530,000
< 159,000
308 MtXIEHMSOIH 689,000 782,600 293,600
s 530,000
< 159,000
01 HXNHHBHELS 689,000 782,600 A 93,600
OorsllgsdAd(2SEY) 689,000
s 530,000
< 159,000
NASSHL R ALS (2SHH H 2HAF ) 4,494,105 4,300,800 193,305
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PN SSHELEFE

A SA - SAEA) - MRAY - BES 0l &t o il HImEET

308 X EHSOIA 4,494,105 4,300,800 193,305

01 HIXNHHBHNEELES 4,494,105 4,300,800 193,305
OXESsHLRel At 4,494,105

3322 A 350,000 350,000 0

308 XXM SO0l A 350,000 350,000 0

01 IXNHHBNEES 350,000 350,000 0
02322 A9 350,000

HAE2AZH (AL ZZ M) (D1 EHIIEH) 54,080 72,268 A 18,188

JlE3l 54,080 72,268 A 18,188

Jl2&l 54,080 72,268 A 18,188

201 L2l 20,720 29,368 AN 8,648

01 At 22l 20,720 29,368 A 8,648
pt=2Hl 9,200
OMEEZTLSE572HI 9,200
O=&l 11,520
OgeFas=atl 11,520

202 o4dl 30,360 39,900 A 9,540

01 = LH 4 Hi 30,360 39,900 A 9,540
OgR =80l 30,360

203 YR =2t 3,000 3,000 0

04 EASIYRFEH| 3,000 3,000 0
115 0l ot 3,000
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M ox
40 5 4

el F A M nSHE
USSR E(WEYER/HFTUE - ERS
WS nsSAHEIAYE

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
< 480,900
403 MtXISHHSA=0l& 2,083,900 1,200,544 883,356
= 1,603,000
< 480,900
01 XM A=2E X 2,083,900 1,200,544 883,356
OnSANEASHEHARAXH 2,083,900
= 1,603,000
< 480,900
EgussH72N 299,000 464,100 A 165,100
= 230,000
< 69,000
403 XIS E X201 & 299,000 464,100 A 165,100
= 230,000
< 69,000
01 X SHHA2E = 299,000 464,100 A 165,100
OSgus+¢2edX& 299,000
= 230,000
= 69,000
Z2A0ISANEUHEX 2Y 1,000,000 1,000,000 0
307 gl2tol & 1,000,000 1,000,000 0
05 BIZERIE 3 1,000,000 1,000,000 0
O2290sk2HEH2YE 1,000,000
sEguszg 1,100,000 1,170,000 A70,000
s 1,100,000
308 X EHSOIA 1,100,000 1,170,000 A70,000
s 1,100,000
01 HIXNHHBNEES 1,100,000 1,170,000 AT70,000
O=sEss89AMXNE(ZSETH|) 495,000
s 495,000
OsE338HAXNE (FSZHI) 605,000
s 605,000
= SHEANSHAMS X 200,000 200,000 0
308 A EHHSOIA 200,000 200,000 0
01 HIXNHHNBHEES 200,000 200,000 0
=REHEANSHAMSXR 200,000
EHAIZ X E & 1,445,340 120,900 1,324,440
= 850,200
< 595,140
308 XX EHSOIA 1,445,340 120,900 1,324,440
= 850,200
< 595,140
01 IXNHHBNEES 1,445,340 120,900 1,324,440
A Z X2 & X & 1,445,340
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USSR E(WEYER/HFTUE - ERS

WS nsSAHEIAYE

A SA - SAEA) - MRAY - BES 0l &t o il HImEET
= 850,200
< 595,140
EAI2E X & 465,273 484,400 A 19,127
308 AHAIEHHSOIA 50,400 50,400 0
01 HXNHHBHELS 50,400 50,400 0
O2SE2YUANSFFUHIA 50,400
403 MtXISHHE X201 & 414,873 434,000 A 19,127
01 XM A=2EE 414,873 434,000 A 19,127
OEHESHAAMNEXE 132,648
CJEASAIISEEIELX XA 282,225
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ogE(53) 13,794
- B Xt 358,150 *1/4% 123 1« 128 12,894
- A4 60 2 *1,250R x 15 »12& 900
Os=(53) 12,320
- i A 18,4569 Al x1/4x 1902 x 1 x 12& 10,520
- Xt B0 4 *1,250 3 x2H 128 1,800
OdAAlOHBE) 13,178
- A 3,034 2 x1/4%1,250RA x1H * 128 11,378
- X4 B0 i *1,250R x2H 128 1,800
ool=(53) 13,095
SRR 2, 77222 x1/4%1,250@ x1H x 128 10,395
PNE 60 2 *1,2503 x3H »12& 2,700
Ol = Ul AlOH5BE) 9,687
- 2,583 *1/4%1,250RAx1H *12& 9,687
OHIEY (53) 11,239
- X 2,517 2 *1/4%1,250@ 1 H =128 9,439
- Xt B0 2 *1,250 3 x2H »12& 1,800
OXHstdl =& 700 21 *1,250& 10" x12& 105,000
| =3l 61,280 58,760 2,520
Jl2&l 61,280 58,760 2,520
201 et A | 55,080 51,960 3,120
01 AFR 2t 2l Yl 38,080 34,960 3,120
et ZH| 10,800
OMS2EYSER UL 5,800
OALRREEANSFLH] 2,500
OBHAMRARR AN 2,500
O3l 17,280
O =X AH| 17,280
Oexz 10,000
N EV L 10,000
02 =294l 17,000 17,000 0
O33s2=2HA 17,000
OR2NDEYENALETISHB SR 8.500




M ox
40 5 4

=T =l PN SN QNE
D HAS2AZH (A EAD)(JIEH/DIE

»Jl23l (&)
= - — L=
AR .24 BH-BAGEN) - NRANY - BES il HlnE2

Osl&Es=Mzed= 8,500

202 oddl 2,000 2,600 A 600

01 = LH 4 1l 2,000 2,600 A 600
O2MNFLSHESHRFANL 2,000

203 R =&l 4,200 4,200 0

04 ENSSHRF=EHI 4,200 4,200 0
12521016t 4,200




